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o300 XY DEA
2 310 WY DA
8 311 NI A CEEED
Z.op-g-2 0 &k o4 p[E-T" HR 2
=R 9,412,190 3,655,756 5,756,434
300 X 2D A 51,000 1,000 50,000
310 XL DEA 51,000 1,000 50,000
311 X YDA 51,000 1,000 50,000
311-02 SELLA 51,000 1,000 50,000
[ 2ura | 51,000 1,000 50,000
< THHOIED > 51,000 1,000 50,000
O2012 MYMP EII™e I} 24012 AMEE 50,000 0 50,000
500 X3 8,661,190 2,954,756 5,706,434
510 202 E2S 6,968,517 2,692,916 4,275,601
511 2R E3S 6,968,517 2,692,916 4,275,601
511-01 2 DR X3 6,968,517 2,692,916 4,275,601
[ 23 | 6,968,517 2,692,916 4,275,601
< THHOIED > 6,968,517 2,692,916 4,275,601
ORX165 EAZ (&8 TH=ET(LYH) 1,750 0 1,750
ORI14,158 BAZ(Gg 2etd) SGHRTNET HHL (YW
) 110,838 0 110,838
ORI16Z ENZ (&) IR (220H4) TaH=E7(HYN) 1,066,111 0 1,066,111
OR165 ENZ(&HHH) BH& (100H4) TIoH= T 521,222 0 521,222
OR165 ENZ (&) ABHE(450H2) ToH=T 2,575,680 0 2,575,680
520 Al - CHIEEZS 1,692,673 261,840 1,430,833
521 Al - CHIBE2S 1,692,673 261,840 1,430,833
521-01 Al - CHIBE2S 1,692,673 261,840 1,430,833
[ 2ors ] 1,692,673 261,840 1,430,833
< THLOHE D 1,692,673 261,840 1,430,833
E2Ei2E 29 6,809 15,000 ~8,191
OX165 EAZ (&) D=7 (HYH) 375 0 375
ORX145, H 155 EHEZ(HE, Zote)atETIHET 1144 (4
2H)
129, 128 0 129, 128
ORI16Z B2 (&) IR (220H4) TH=E7(HYN) 550,130 0 550,130
ORN165 EHE (&HHH) SH& (1044) TIoh= 310,211 0 310,211
OHN165 EHS(&HH) AGHE(450HA) HaH=2 449,180 0 449,180




